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STD: XI ONE MARK TEST - 4 Marks: 35
: CHEMISTRY Time: 45 Min.
(1. The group of clements in which the differentiating clectron enters the anti penultimate shell of atoms are called
) p-block clements b) d-block clements ¢) s-block elements  d) f-block clements
2. The clements with atomic numbers 31 belongs to
a) d-block b) f-block ¢) p-block d) s-block
3. Which of the follow ing clements will have the highest electronegativity?
a) Chlorine b) Nitrogen ¢) Cesium d) Fluorine
4. A property which progressively increnses down a group in the petiods table is
a) Tonization enthalpy b) Electronegativity
¢) Electron gain enthalpy d) Strength as a reducing agent
S. T the thind period. the first ionization potential is of the order
ANa>~Al~"Mg=8Si>"D byNa~ Al - Mg ~-Si-P
) Mg>Na>8 ~P > Al d)y Na= Al - Mg - P < S
6. The law of tiad s applicable to :
a) Chlonine, bromine and iodine b) Hydrogen, oxygen and nitrogen
? ¢) Sedium, neon and calcium d) All of the above

7. Identity the wrong statement,

a) Amongst the isoclectronic specics, smaller the positive charge on cation, smaller 1g the jonic radius
b) Amongst isoclectric species greater the negative charge on the anion, larger is the ionic radius
¢) Atomic radius of the clements increases as one moves down the first group of the periodic table
d) Atomic radius of the elements decreascs as one moves across from left to right in the 2" period of
the periodic table.
8. Excluding hydrogen and helium, the smallest element in the periodic table

a) lithium b) Oxygen c) Fluorine d) Chlorine
e » 9. The correct order of electron gain enthalpy with negative sign of F, Cl, Br and I having atomic number 9, 17, 35
& and 53 respectively is :
a) I>Br> Cl>F " b)F>Cl>Br>I ¢) C1>F > Br>] - d)Br>1>Cl>F
e 10. Which of the following is the lightest metal ? e
T a) Calcium - b) Lithium 5 ¢) Magnesium d) Sodium
11. Which one of the following is the least electrohegative element?
& a) Bromine ‘b) Chlorine . c) Iodine d) Hydrogen
12. With respect to chlorine, hydrogen will be : 1 E
E: ~ a) Electropositive b) Electronegative ~ ¢) Neutral d) None of these.
- 13. How does electron affinity change when we move from left to right in a period in the periodic table?
a) Generally increases b) Generally decreases
c¢) Remains unchanged d) First increases and then decreases
) 14. Halogens belong to the :
A a) s-block - b) p-block ¢) d-block d) f- block
15.1E; and IE> of Mg are 179 and 348 kcal mol™! re pectively. The energy required for the reaction
Mg — Mg + 2¢ is . ,
a) +169 kcal mol! b) -169 :cal mol™! ¢) +527 keal mol™! d) -527 kcal mol™
16. If Ky and K; for a reversible reactions are 0.8 x 105 and 1.6 x 10~ respectively, the value of the equilibrium
constant is, i
B a) 20 b) 0.2 x 10" . ¢)0.05 d) none of these
{ : 17. In which equilibrium pressure has no effect
a) PCls@) <>PCl3g) + Clag b) Hag) + Lg¢>2Hl g
¢) 2SO+ Oa(g) <> 2S03() : d) NH4Cl) <> NH3(g) Ny HCl,
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23, In the heterogenous oquilibrium CaCOw ¢>CaOuy |+ COs
) partial pressure of CO2
¢) activitics ol CaCOy
24, 11X is the fraction of PC1s dissocinted at L(]llllll)llllln in (he reaction
mole of PC ls. the total pumber ol mulul of :u.u,l;mtq und pruduotﬂ at equilibriurm is

2) 0.5 - LB R 050 ) 2%+ 0.5 dyx+1
25, For which ol lhc following Kp is less lhun K(,? i o _“"3 e

a) N,O, = 2NO, | 1 ' )‘ ;“ s iy e 5 ‘”4'»":‘; “ ""’/ ‘ ’ 0 . b) N, + 3H, = 2NH,

¢) Hy + Ip = 211 Rt ol .t ! d) COHHRO = CO +Hy

26. In the reaction, I'e (OH); (q) = I‘d'(aq) ~| ‘50[[ (dq), 11 thc conccntrd’uon of OH" ions is decreased by ¥ times,

then the cthbuum concuuratlon ol I‘c" wnll i gy R
a) not changed A TN J " b) also decreased by ¥4 times
¢) increasc by 4 tlm(,s ,'7‘/"“ ) ikt | dy g increase by 64 times
27. Theory of “active mass’ mdlcdtcs that thc ratc of chcmlcal ruac‘uon 15 directly proportional to the
a) Equilibrium constant R Fel, T ~ b) Properties of reactants
¢) Volume of apparatus ‘ L o d) Concentration of reactants

28. For the formation of two moles of SOs(g,) from SOz and Oz, the equilibrium constant is K. The equilibrium
_ constant for thc dissociation of one: mole of 803 mto SO, and 01 is

Er W e ek 1)2 s
= dENERR T , c)(?1 d)

r“‘ | 3
'+ 29. Under a given set of experimental conditions, with an increase in the concentration of the reactants, the rate of a

chemical reaction:
a) Decreases ! b) Increases
¢) Remains unaltered d) First decreases and then increases

1..30. Equimolar concentrations of H, and I, are heated to equilibrium in a 1 litre flask. What percentage of initial

" concentration of Hz has reacted at equilibrium if rate constant for both forward and reverse reactions are equal
a) 33% b) 66% 5 ¢) (33)*% d) 16.5%

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com


https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

www.Padasalai.Net

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com

www.Trb Tnpsc.Com

X\ -Chem\igkye (|
= —rte —{
MASUE ¥ W, 5O M anks
(
\))\ (/)‘ \) ’) T\) ‘/)\)
Ay W) 255 '/’,)
\ (3) ’ 3 2 )),\ /))
0 - >
T N &3 )
DT <) 1
L O
204G b3
\{®~\N &) ;
Boy O
vy ¢ \
soy A ()
oty B
22y B
; ) 5
22y
) | \\
Pa'\)x(o_\(as\a ™M-Se 5k EA 4 gy

e ASSVE N GHEMLST’R*(

AN

]


https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

